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10. Reckonin<]f bank discount at 5 per cent, a person

would receive $21 less than the nominal value of a

pote which has a year to run : what would he receive

for the note if true discount w(U"e deducted 1

XVI.

1. Find the sum of the squares and the cnbes of the

numbers 1, 2, 3, 4, 5, G,

2- A man is engaged to work rt $1 a day and his

board, with the understanding tluit he is to pay 37J cts.

a day for his board when idle : what must be the ))ro.

portion of working time so that he may just keep out

of debt, supposing that he works whole days and not

parts in every case ?

iSo?.—Wages, $1 ; loss on idle days=$-V-, L. C.

M.—$88=11 working or 8 idle days ..
J ^.

8. When 1 guinea is the amount of £1, for what

sum is 1 cjuinea the interest?

Sol.—Amount:=:-:J .•. interest^^'g .•. princi-

pal=20 intei'estr=£21.

4. Which is the more profitn'ole, a cord of woort

wiiich costs $4.75, and $1.25 for cutting, etc., genei-

ating a temperature of 72° in my room for 24 days, or

a ton of coal which co.sts $5, which would generate a

temperature of 70° for 25 days, but for a loss of 80 lbs.

per ton from dust and dross?

Sol.—80 lbs per ton=4 percent. = loss=l day

in 25, leaves 24 days same as wood ;
72° costs

$6 with wood.*. 1° coscs $j2 ; with coal,

70° costs $5, or 1° costs $y'^ .*. coal better.

S„ Sold a horse xor $246, and lost 18 per cent, of


